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Corrections

Exercise Correction
34.3 The equations “12 + 21.8 = 33.8” and “22 + 12 = 34” in the second

paragraph should be interchanged.

120.2 The strategy (0, 1
4 , 3

4) does not satisfy the inequalities and thus does not

strictly dominate T; replace it with (0, 1
3 , 2

3).
224.1 If both firms are active in period t1 then firm 2’s profit in that period is

−ck2 = −200, not (100 − t1 − c − k1 − k2)k2, because the price is zero,
given that k1 + k2 > 50.

227.1 The paragraph following the description of the game should say “. . . an
offer x of player 1 is accepted with probability either 0 or p if x = 0 . . .
is accepted with probability either p or 1 if x = 1

3 . . . ”. In addition,
the two cases in the description of the equilibria in the next paragraph
should be interchanged.
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